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Formulas:Sanos (+)                                                     Enfermos (-)
Sanos





(-)


Razón de Verosimilitud: Sen / (1-Esp)(+)





(-)



Odd ppep:
 Probabilidad /                                  1-Probabilidad

Odd ppop:                                    RV x Odd ppep

Odd ppop: Odd ppop/1+Odd ppop
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	Resultados:
SENSIBILIDAD: 
A/A+C= 17/45=0.37=37%
ESPECIFISIDAD:
 D/B+D= 53/55= 0.96=96%
PREVALENCIA:
A+C/A+B+C+D=45/100=0.45 =45%
RAZON DE VEROSIMILITUD (RV) = (SEN) / (1-ESP)=0.37/0.04 =9.25
ODD PREPRUEBA =  PROBABILIDAD/1-PROBABILIDAD= 0.45/0.55=0.81                            
ODD POSPRUEBA =  (RV) X ODD PREPRUEBA=9.25x0.81=7.49
ODD POSPRUEBA =  ODD POSPRUEBA/1+ODD POSPRUEBA=7.49/8.49=0.88=88%
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